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1 OLIEHOYHBLIE MATEPHUAJIBI 110 OCBOEHUIO JAUCLATIIMHBI
(MOJYJIST)

Tekymuii KOHTpPOJIb YCIEBAa€MOCTH OOECIEYMBAET OLEHMBAaHUE XOa
OCBOCHMUSI TUCITUILIIUHBI (MOJTYJIs).

[IpoMexyTouHass aTTecTamys TMpEeIHAa3Hau€HA I OIECHKH JTOCTHXKEHUS
3allJITAHUPOBAHHBIX ~ PE3yJIbTAaTOB  OOYYCHHsI IO  3aBEPUICHUIO  HM3y4YCHUS
JTUCITUTUINHBL (MOJIY/Is1) W TIO3BOJISIET OIICHUTHh YPOBEHb W KAUeCTBO €€ OCBOCHUS
O0yJarOIIIMHUCS.

KoMIuIekT OIeHOYHBIX MaTepHaloB MPEACTaBISACT COOOW COBOKYITHOCTH
OIICHOYHBIX CPEIACTB (KOMIUIEKC 3aJaHWil Pa3IMdHOTO THMA C KIIOYaMH
MpaBUJIBHBIX OTBETOB, BKIIOYAsi KPUTEPUU OIEHKH), MWCIOIb3YEMBIX IpHU
MPOBEJICHUM OLIEHOYHBIX TpoUeAyp (TEKyIIero KOHTPOJIS, MPOMEKYTOUHON
arTecTallii) C IEJbI0 OILEHUBAHMS JIOCTHMIXKEHUS OOydYalOIIMMHKCS PEe3yJIbTaTOB
oOy4YeHHs M0 AUCIUIUIUHE (MOJYJIIO).

1.1 OneHounsle cpenctBa W OaIbHbIE OLEHKM I KOHTPOJIBHBIX
MEpOIPUATHN

Tabnuma 1.1 O6beM AUCHUTUTHHBI (MOJTYJIsS1) 171 OUHOM (OPMBI 00yUECHUS
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Ta6muna 1.1, 6 — O6beM AUCIUTIIUHBI (MOTYJIS) I 3a09HOU POpMBI 00yUEHHS
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TGKYI[II/Iﬁ KOHTpPOJIb YCIICBACMOCTH H IIPOMCKYTOYHAA AaATTCCTAllHUA IIO0

JUCUUIUIMHE (MOAYJII0) OCYILECTBIISIETCS B COOTBETCTBUU C OANIBHO-PEUTUHTOBOM

cuctemoit mo 100-OamnpHOM 1IKanme. bayuibHBIE OIEHKUA JUISI KOHTPOJIBHBIX

MeponpuaTUid mpeactaBieHsl B Tabmuue 1.2. Ilepecuer cymmbl 0OamioB B

TPaJAMLIMOHHYIO OLIEHKY IIpeICTaBIeH B Tabnuie 1.3.

Tabnuma 1.2 bannpHbie OIEHKH 1711 KOHTPOJIBHBIX MEPOTPUSITHMA

HaunmenoBanue MakcuMalibHBII MaxkcumanbHbIA MaxkcumanbHbII Bcero 3a
KOHTPOJBHOTO 0as1 Ha IEPBYIO 0as 3a BTOPYIO 0as 3a TPEThIO ceMecTp
MEPOTIPHUSTHS ATTECTAIIHIO aTTECTAIHIO aTTECTAIINIO

4 cemecTp

TectupoBanue 4 4 4 12
IlepeBox TekcTa 6 6 6 18
JlexcuaecKuit TUKTaHT 3 3 3 9
KoHnTponbHOE 3a1aHne 3 4 4 11
Htoro (Makcumym 3a 19 18 13 50
NepUon)

3auer 50
Hroro 100




Tabnuma 1.3 [llkana olleHKH Ha TPOMEKYTOUHOM aTTeCTaINH

Bripaxkenue B Oanax

CJ10BeCHOE BBIPAXKEHHUE MTPU
(hopMe TPOMEKYTOUHOM
aTTECTaIMH - 3a4€T

CrnoBecHoOE BbIpa)XEHUE IIPU
dbopme mpOMEKyTOUHOM
aTTeCcTallM — YK3aMEH, 3a4eT

C OLIEHKOU
ot 86 1o 100 3a4uTeHo OT1nuyHO
ot 71 no 85 3auteHo Xoponio
ot 51 1o 70 3auTeHo Y 10BIETBOPUTETHLHO
0o 51 He 3aureno HeynoBneTrBoputesnbHO

CDopMa U OpraHu3anuAa HpOMGX(YTOqHOﬁ aTTeCTaiuy 110 UTOraM OCBOCHUA

AUCHUIIIIMHBI — 3a4CT IIPOBOAUTCA B JBa STalla. HOpOFOBLII?I — B BHUJC UTOI'OBOI'O

TCCTUPOBAHUA, JAJICC aHAJIN3 TCKCTA U OTBCTBHI HAa BOIIPOCHI IO CTPAHOBCAUCCKHUM

TCKCTaM.

2 OueHOYHbIE CPEACTBA JJISI TPOBEICHUS TEKYIIEr0 KOHTPOJIS

2.1 TecToBBIC BOITPOCHI

TecToBBIE

BOITPOCHI

coJiepiKaT

CIEAYIOIINE

THIIBI BOITPOCOB C

COOTBCTCTBYIOIIMM KOJUYCCTBOM 0aJIJIoB 3a HpaBI/IHBHHﬁ OTBCT:

Twun Bompoca

KomnuuectBo 6anioB 3a HpaBHJ’IBHBIfI OTBCT

3a1poc BpIOOpa BApUAaHTOB OTBETA

1

4 cemecTp Tekymas arrecramus 1

1 The girl ... on the blackboard is our best pupil.

a) writing
b) written

¢) having written

2 Read the ... sentences once more.

a) translating
b) having translated

c) translated

3 Everything ... here is quite right.

a) writing




b) having written
C) written
4 ...the floor Helen watched a new movie.
a) washing
b) having washed
c) washed
5 The exercises ... by the pupils were easy.
a) having done
b) doing
c) done
6 ...the story, she closed the book and put it on the shelf.
a) having read
b) read
c) reading
7 The house ... by tall trees is very beautiful.
a) surrounding
b) surrounded
¢) having surrounded
8 ... his homework, he went for a walk.
a) doing
b) done
c) having done

9 I picked up the pencil ... on the floor.
a) lying
b) lain
c) laid
10 She was reading the book ...the day before.



a)buying
b) bought
c)having bought
11 ... all the fruit, he went to see his friends.
a)selling
b) having sold
c)sold

12 ...out all the new words, he was able to translate the text easily.

a) writing
b) having written
C) written
13 It was not easy to find the ... stamp.
a)losing,
b) lost
c)having lost
14 Here is the letter ... by me yesterday.
a)receiving,
b) having received
C) received

15 ... through some magazines, I came across an interesting article about UFOs.
a) looking
b) looked
c) having looked

16 | have read only some of that new book because it's very ...

a) boring
b) bored
c) having been bored
17 When they finally reached the top of the hill, they were ...

a) tiring and exhausting
b) tired and exhausted
c) having been tired and exhausted
18 A new private ... station has begun to function.
a) broadcasted
b) being broadcasted
c) broadcasting
19 He had found a ... umbrella and didn't know what to do.



a) broken
b) having been broken
c) breaking
20. Do you know the girl ...in the garden?
a) playing
b) having played
c)played
21 The book ... by this scientist is very interesting.
a)having written
b) writing
C) written
22 Translate the words ...on the blackboard.
a) writing,
b) having written
C) written
23 We could not see the sun ... by dark clouds.
a) having covered
b) covering,
c) covered
24 The ....book was found at last.
a) losing,
b) having lost
c) lost
25 By 1960 the numbers of cars in the world had reached 60 million, no other
industry having ever developed so quickly.

a) Yucio mammH B Mupe K 1960 romy nocturio 60 MWIIHOHOB TIpU OBICTPOM
Pa3BUTHH JIPYTUX OTPaciieid MPOMBIIIIEHHOCTH.

b) K 1960 roxy umcjio aBToMo0Wjeii B MHpe AOCTUIIO0 60 MULIMOHOB,
NpuyYyeM HHM OJHA JPYyras NPOMBIILJIEHHOCTh He Pa3BHBAJIACh TaK
OBICTPO.

c) Korga Hu oxHa OoTpacib MPOMBINIICHHOCTH HE pa3BHUBaiach, Kk 1960 romy
KOJIMYECTBO aBTOMOOMIICH B MUPE JOCTHUTIIO 60 MUJITHOHOB.

26With the current being switched on, the machine automatically starts operating.

a) Co BKIIOYCHHBIM TOKOM MalllMHA HAYHET padoTaTh aBTOMATHUCCKH.
b) Koraa BKJIHYAKT TOK, MAIIMHA HAYHHAET PAa00OTATh ABTOMATHYECKH.
c) Tox BKIIOYAIOT, U MAIlIMHA HAYWHACT Pab0TaTh ABTOMATHUYCCKH.

27. The computer designed to use IC were called third generation computers.



a) KommnbioTepbl, CKOHCTpPYHpOBaHHbIe 4YTOObI Hcmoab3oBath MC,
HA3bIBAJINCH KOMIIBIOTEPAMU TPETHEro MOKOJIeHHS.

b) KommnbroTepbl CKOHCTpYHpOBaJM, 4YTOOBI Mcmoib3oBath MC W Ha3Baam ux
TPETHUM TTOKOJICHUEM.

c) KommbproTepbl Ha3bIBAINCh TPETHHM ITOKOJICHHUEM, IIOTOMY 4YTO B HHX
ucnois3oBanuck UC.

28 The transistor ... in 1948completely changed the vacuum tubes.

a) invented
b) being invented
Cc) inventing
29 Electronic and mechanical equipment in a computer system is ...
a) software
b) hardware
c) welfare

30 The process of preparation a set of coded instructions for a computer is called

a) calculating
b) composing
C) programming
31 A set of programs, procedures and associated documentation is called ...
a) integrated circuit
b) transistor
c) software
4 ceMecTp TeKyluasi aTrecTaunus 2

32 We are looking forward to ... on a tour of Paris by our French friends.

a) being taken
b) having been taken
c) taking
33 He followed up this remarkable declaration by ... his head.

a) having shaken
b) shaking



c) shook
34 When we had finished ..., the waiter brought us the bill.

a) eaten
b) to eat
Cc) eating
35 Would you mind ... the front door?
a) having closed
b) to close
c) closing
36 Why have you stopped? Go on ...
a) toread
b) reading
c) read
37 I can’t help ... about that awful accident.
a) to think
b) thought
c¢) thinking

38 What do you feel like ... for breakfast?
a) to have

b) having
c) had
39 We are looking forward to ... on a tour of Paris by our French friends.
a) being taken
b) to take

c) having been taken
40 Most people enjoy ... to different parts of the world.
a) to travel



b) having travelled
c) travelling
41 | remember... a woman outside when | went in.
a) to see
b) seeing
C) saw
42 Before signing the contract, he wanted to get the approval of the chairman.

a) Hepez[ NOoANMUCAHUEM KOHTPAKTa OH XO0TeJ IOJYYHUTH onoﬁpeﬂne

npeacenareJis.

b) Ilepen moanKcaHueM KOHTPAKTa OH XO4YeT TOJIYYHTh pa3peIIeHue
npeacenarTes.

c) Ilepen moamucaHueM KOHTpakTa OH XOTEJ  W3BUHUTBCS  IMEPe.
Ipeice1aTeseM.

43 The girl... next to Emma is her niece.
a) being sat
b) having been sat
c) sitting

44 You must keep on ... the computer until you understand how ... all
of the programs.

a) practise, to use

b) practising, using

c) practising, to use

45 Most passengers dislike ... in small, uncomfortable seats on transoceanic
flights.

a) sitting

b) sit

c) to sit

46 ... nothing about the trouble, my grandfather felt comfortable and quiet,
d) Having been told
e) Telling
f) Having told
47 The guide promised ... the tourists at the station.
a) meeting
b) to meet



c) met
48 Instead of... the letter, she went away.
a) finishing
b) finish
c) to be finishing

49 The letter... yesterday was most welcome.
a) receiving
b) having received

c) received

50 All of them enjoyed ... tennis.
a) to play
b) playing
c) play

51 Stop ... at me! I'll get everything finished before | go to bed.
a) to grumble
b) grumbling

c) to be grumbling
52 | look forward to ... you the next time I'm in town.

a) see

b) to see

C) seeing
53 While ... the street in the wrong place, the boy was stopped by the
policeman.

a) crossing

b) being crossed

c) having been crossed
54 Although my father slammed on his brakes, he couldn't ... the dog that
suddenly darted out in front of the car.

a) avoid to hit

b) avoid hitting

c) be avoided hitting



55 ... their supper, the family started watching television.

a) Being finished
b) Having finished
c) Having been finished

56 | couldn't help ... when heard the joke.
a) to laugh
b) laugh
c¢) laughing

57 The customs officer opened the suitcase
brought into the country.

a) to see

b) seeing

c) to be seen
58 I can’t help ... about that awful accident.

a) to think
b) thinking
c) thought
59 Why have you stopped? Go on ...
a) read
b) to read
c) reading

a)
60 You must... English wherever you can.
b) practise speaking
c) to practise speaking
d) practising

... iIf anything illegal was being

61 My car needs a service badly, and Tom offered ... me with it.

a) to help
b) helping
c) helped



62 The city council seems ... the architect's design for a new market.
a) to have accepted
b) accept accepting
c) to be accepted
63 They would like ... to Bill's party.
g) having invited

h) to be invited

1) to have been invited
64 Although I was in a hurry, I stopped ... to him.

a) to talk
b) talking
c) having talking

65 You should ... to other people instead of... about yourself all the time.
a) to listen, to talk
b) listen, talking

c) listening, to talk
66 Jane seems ... some weight. How long has she been on a diet?

a) to have lost
b) having lost
c) lost
67 Nobody can expect you ... overtime
a) working
b) work

c) to work
68 All parts of London seem ... to different times and epochs.

a) to belong
b) belonging
c) belonged



69 My grandparents made me ... them next week.
e) to promise to call
f) promise to call
g) promising to call
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71 ... 1s a financial centre of London.

a) The East End

b) The West End

c¢) The City

d) Westminster

72 The US flag has ...stars and ... stripes on the blue background.

a) 50,13,
b) 51,14
c) 48,23
d) 53,12

73 ... was the British Prime Minister during the Second World War.
a) Benjamin Disraeli

b) Margaret Thatcher

¢) Winston Churchill

d) John Major

74 The Royal family lives in ....

a) No 10 Downing Street

b) Buckingham Palace

c) Westminster Palace

d) Tower of London

75 The spirit of adventure means that Americans .....

a) hate changes
b) love changes
c) like travelling
d) like ancient things
76 The climate of England is .....



a) rainy and cold
b) mild and wet
c) dry and warm
d) hot and changeable
77 There are ... bridges across the Thames.

a) four
b) six
c) fourteen
d) ten
78 The working class of London live ....

a) Inthe West End
b) In the center of London
c) in City
d) in the East end
79 Washington produces.....

a) scrap paper
b) cars
C) computers
d) trains
80 The Americans put an emphasis on....
a) sociability
b) punctuality
C) privacy
d) hospitality
81 The plant will produce the new type of machine-tools now being imported from
abroad.

a) 3aBoJi MPOU3BOAMT HOBBIA THII HHCTPYMEHTOB, BBIBO3UMBIX 3arpPaHHILY.

b) 3aBoj BBHIMYCTHJI HOBBIH THI CTaHKOB, KOTOpbIC celyac BBIBO3AT 3a
TpaHUILy.

C) 3aBox OyaeT NPOM3BOAUTHL HOBBIH THII CTAHKOB, KOTOpbIe ceiiuac
BBO3AIT U3-32 IPAHUIIbI.

82 The substances obtained we subjected to a chemical change.

a) MplI noABEPIIM XHMHYECKOMY BO3/1€iiCTBHIO MOJIy4YE€HHOE BellecTBO.

b) CyOcraHius Obljia MOABEPrHyTa XUMHYECKOMY BO3JICHCTBHIO.

C) Mbl moNyYnsiIM BEIIECTBA M CACTAIM HMX MPEAMETOM XHMHUYECKOTO
U3MCHCHHS.

83 The first generation computers were ... and often burned out.

a) unreliable
b) uncomfortable



c) unsociable

84 The data needed for solving problems are kept in the ....

a) input device
b) memory
C) output device

85 Being able to use a computer is an important ... nowadays.

a) license
b) degree
c) skill

d) qualification

86 Random access memory is automatically ... when the power is turned off.

a) inserted
b) deleted
c) added

d) attached

87 ...1s a standardized method of transporting information across the Internet in
packets of data.

a) IP
b) HTTP
c) WWW
d) PC

88 The hard drive ...all information and holds it when the computer is turned off.

a) stores
b) damages
C) processes

d) installs

89 ... 1s the primary chip of the system that oversees all the other components of
the system.

a) Processor
b) Interface
c) Motherland
d) Memory



90 ... modems transmit modulated data using electromagnetic waves.
a) Wireless
b) Array
c) Fiber optic
d) Cable
91 ... 1s a secret code that enables someone to access a file, computer or program.
a) Codeword
b) Password
c) Cross-word
d) Keyword
92 If the solid is heated, it ...

a) will expand,
b) would expand
c) expanded
93 The motion of electrons will increase in case we ...

a) would rise the temperature
b) rise the temperature
c) will rise the temperature
94 If he had examined the motor, he ...

a) wouldn’t switched it on.

b) wouldn’t switch it on

c) wouldn’t have switched it on
95 In case they created the device, they ...

a) will conduct interesting observations.

b) would conduct interesting observations

c) would have conducted interesting observations
96 We will continue research if the necessary data ...

a) will be received .
b) is received .
c) are received .
97 The reactor would be brought into operation provided all the preparations ...

a) would be completed.
b) were completed
c) completed
98 The mechanism is provided with a special device for the whole system ...
automatically.



a) functioning
b) to function
c) function

99 We know the machine ...

represented in binary numbers

a) to react
b) reacting
c) have react

to a series of electrical impulses that can be

100 Printers are known ... greatly in performance and design.

a) varying
b) vary
c) tovary

2.4 BrimonHeHue 1abopaTopHbIX paboT

JlaGopatopHblie pabOThl Y4€OHBIM IIJIAHOM HE MPEyCMOTPEHBI

2.5 PacueTtHo-rpaduueckas padbora
Pacuetno-rpaduyeckas pabora yueOHbIM IUIAHOM HE MPEAYCMOTpPEeHa

2.6 Bonpock! Ha 3aHATUAX (OMPOC, OHJIANH-0TIPOC)

Ornpoc Ha 3aHATUSAX MPEANOJIAraeT OTKPHITHII OTBET
[Tpumep BONpOCOB HA 3aHATHSIX

No Tun Bonpoca

Bomnpoc

Bapuants! oTBeTa

1 | OTkpsITHIH OTBET

What are the most striking
features of the English?

The most striking features are
egoism, a strong sense of
individualism and intolerance
to outsiders.

2 | OTKpHBITHINA OTBET

What are the four parts of
London?

The four parts of London are
the City, the West end the East
end and the Port.

3 | OTKpBITHII OTBET

What features are common to
the climate of this country as a
whole?

The climate is wet and the
weather is changeable.

4 | OTKpBITHIH OTBET

What do the Americans put an
emphasis on?

They put an emphases on
punctuality.

5 | OTKpHITHI OTBET

What is the only industry in
Washington?

The only industry in
Washington is government.

6 | OTKpBITHIA OTBET

Why does the weather often
change in England?

The weather often changes
because of the Atlantic Ocean.

7 | OTKpBITHII OTBET

What does the word «laser»
mean?

It means light amplification by
stimulated emission of
radiation.

8 | OTKpHITHI OTBET

What do we use the energy of
hot water for?

We use it for heating.

9 | OTKpBITHIA OTBET

When and where did the first
power station using ocean tides

It began operating on the
Barents Sea in 1964.




begin operating in Russia?
10 | OTKpBITHIH OTBET What can a laser do? It can vaporize any substance
on the Earth or make lead run
like water.

2.7 KypcoBas pabora
KypcoBast paboTa y4eOHBIM IJIAHOM HE MPEAYCMOTpPEHA

3. OueHouHbIE CpENCTBA ISl MPOBEACHHS TMPOMEXKYTOUHOTO KOHTPOJIS
(TpOMEXKYTOYHOM aTTECTAIIUH )

Cemectp Bun By KOHTPOIBHOIO MEPONIPUATHUS bamibHble
IIPOMEKYTOUHOU OLEHKH
aTTecTaluu
4 3auer TecToBble 3a1aHus 0-20

IlepeBon TekcTa, TOWUCK KIIOYEBBIX (pas,
COCTaBIJIEHHE TUTaHA M (HOPMYTUPOBKA OCHOBHOM
MBICIIH. 0-20
OTBeTbl Ha BONPOCHI 110 CTPAHOBEIYECKHM | 1y

TCKCTaM

3.1. TecToBbIe 3agaHus

TecToBble 3amaHUsi MPOMEXKYTOUHOM aTTECTAllMUd MPEACTABISIOT COOOM

COBOKYITHOCTh TE€CTOBBIX BOIPOCOB TEKYIIETO KOHTPOJIS.
3.2 KomrutekcHoe 3aiaHue (3a4€THBIA TEKCT U KapTOUKa C BOIIPOCAMH)

TexcTbl paBHOIICHHBI 1O TPYAHOCTH. 3a 60 MUHYT HEOOXOJAMMO MEPEBECTU
TEKCT, COCTaBUTH IJIAaH K €r0 M3JI0’KCHUIO, BBIMHMCATH KIIOUEBHIE CJIOBA W/WIIA
cioBocoueTanus (10-15) u HamKMcaTh OCHOBHYIO MBICITb TEKCTA.

[IpumepHBIN TEKCT i1 3ayeTa

Time Travel and New Universes
It is known that for a long time well before Albert Einstein scientists were
studying the ideas that seemed strange. Consider a few of such ideas now accepted
by the scientific community: clock that tick slower when they are on rockets in
outer space, black holes with the mass of a million stars compressed into a volume
smaller than that of atom and subatomic particles whose behaviour depends on
whether they are being watched.



But of all strange ideas in physics, perhaps, the strangest one is the hole in
the structure of space and time, a tunnel to a distant part of the universe. American
researchers have determined that it will apparently be possible in principle for
mankind to create an entirely new universe by using the idea of wormhole
connection. Such a universe will automatically create its own wormhole, squeeze
through it, and then close the hole after it.

Although many people can find such an idea useless and fantastic, it can
help scientists to develop their imagination and explore how flexible the laws of
physics are. It is such an idea that could give answers to some of the fundamental
questions of cosmology: how the universe began, how it works and how it will
end.

The idea of wormhole comes directly from the accepted concepts of general
relativity. In that theory A. Einstein proved that very massive or dense objects
distort space and time around them. One possible distortion is in the form of a tube
that can lead anywhere in the universe - even to a place billions of light years
away. The name «wormhole» comes about by analogy: imagine a fly on an apple.
The only way the fly can reach the apple's other side is the long way over the fruit's
surface. But a worm could make a tunnel through the apple and thus shorten the
way considerably. A worm-hole in space is the same kind of tunnel; it is a shortcut
from one part of the universe to another that reduces the travel time to about zero.

In fact, instantaneous travel leads to the idea of wormhole as time machine.
If it were possible to move one end of a wormhole at nearly the speed of light,
then, according to general relativity, time at that end would slow down and that
part of the tunnel would be younger than the other end. Anything moving from the
faster-aging end of the wormhole to the slower one would essentially go back-ward
on time. The type of travel, however, could be nothing like the mechanical time
machine described by H. Wells. It is difficult to imagine how a human being could
move through a wormhole, since it would theoretically be narrower than an atom
and it would tend to disappear the instant it formed.

3.2.1 Bompocsl Ha 3aueTe/3k3aMeHe (BOIPOCHI K 3a4eTy)

Ne n/m | Tun Bonpoca Bompoc

[MpakTryeckwii What are the most striking features of the English?

Why are the English called a nation of stay-at-homes?

What is the focus of the English home?

What is part of the prose of British life?

gl B~ W N -

Why does the weather play a big part in the lives of the British

people?




6 What is regarded as carrying a certain social prestige in Britain?

7 What are the four parts of London?

8 What sights do you know in London?

9 Where are the East-end and the Port situated?

10 Why is there no wide range of climatic conditions in England?

11 What features are common to the climate of this country as a
whole?

12 Why does the weather often change in England?

13 What is a very good beginning for a talk with an Englishman?

14 What is typical for the American way of life?

15 What do the Americans put an emphasis on?

16 What kind of houses do the Americans have? Do they have
gardens?

17 What kinds of sports are the most popular in America?

18 Who chose the place for the District of Columbia?

19 What is the only industry in Washington?

20 Which American state does Washington belong to?

21 What historical places does Washington have?

22 Why does Washington attract many tourists today?

23 What does the USA flag look like? How many stars and stripes are
there on it?

Kpumepuu oyenusanus
[TepeBon n aHaIM3 TEKCTA JOJKEH OBITH BBHITIOJNHEH 32 60 MUHYT B ITOJTHOM
obbeme.

CyMmapHO oOlleHHBaeTCsa paboTa MO TEKCTY W OTBETHl Ha BOMPOCHI B
kapTtouke. OTBETHl MOJDKHBI OBITH pa3BEPHYTHIMH, TMOJTHBIMU. OICHUBAETCS
MOJIHOTA U aJIeKBaTHOCTh OTBETA; YMEHHUE CTPOUTHh IPaMMATHUYECKU MPaBUJIbHbBIC
MPEJIOKEHHUS; UCTIOIb30BAHUE U3YUEHHOM JIEKCUKH.

IIpumep bannvHOU cucmembl OYeHUBAHUA.

Kpurepun onennBanus Kosecrso
0amioB

- BoiOpaHbI Bce KIIIOUEBHIE CIIOBA.

- CoCTaBIIEH YETKHI IIaH TEKCTa

- Bepro chopmynupoBana OCHOBHasI MBICIIb TEKCTa. 22-30

- JlaH moJHBIN, pa3BepHYTHIA OTBET HA MOCTABJICHHBIE BOIPOCHI B KapTOUKE.

CTylleHT MpeKpacHO MOHMMAET MHOCTPAHHYIO pedb, B MOJHON Mepe BIIAJIEET




IrpaMMaTUKON U JIEKCUKOM. IIpu OoTBEeTE HE OrpaHUYMBACTCS OJHOCIOKHBIMU
OTBETaMHU, a 1aeT Pa3BEPHYTHIC OTBETHI HA MHOCTPAHHOM SI3BIKE.

- BoiOpaHnbl He Bce KITIOYEBBIE CIIOBA.
- [Iman TekcTa HEeTOHBIH 3aroJ0BKH MTyHKTOB C(hOPMYyITUPOBAHBI HE YETKO.

- CTyIeHT UCHBITHIBAET TPYAHOCTH C (OPMYIUPOBKOM OCHOBHOW MBICIHU -
TEKCTa, HO CIPABJISETCS C HE3HAUNUTEIbHON IIOMOILBIO MPENO01aBaTENsL.

- [loHnMaeT HHOCTpaHHYIO pedb Ha CIIyX U aJ€KBaTHO OTBEYACT HA BOIPOCHI B
KapTOUKe, UCIIONIb3YSl HEOOXOIUMYIO JIEKCUKY M TPaMMAaTHUKY. .

11-21

- KittoueBbIX Cl10B BBIOpPAHO HEOCTATOYHO

- CTyzleHT 3aTpyAHsIeTCsl COCTaBUTh IUIaH TEKCTa 3a MPEAOCTABICHHOE BpeMs
- OcHOBHas MbIC/Ib TEKCTA CHOPMYIMPOBAHA HE YETKO.

- Ha Bompockl kKapTOUKH OTBEYAE€T BHIOOPOYHO U OAHOCIIONHO, HE MOJHBIMU
npeioxkeHussMu. [Imoxo Bnageer JIEKCHMKOM, € TPyIOM BOCHPUHHMMAET
MHOCTPaHHYIO peub Ha ciiyX. Peub TpeOyeT MHOXKeCTBaA MOIPABOK.

5-10

- BeiOpano 2-3 KJIF0YEBBIX CIIOBA.

- CTyZIEeHT HE MOXET COCTaBUTh IUIAH TEKCTA.

- OcHOBHas MBICJIb TeKCTa He CHOPMYIIMPOBAHA.

- CTyJIeHT MCHBITHIBAET 3HAYUTENbHBIE TPYAHOCTH MPHU OTBETE HA BOMPOCHI
3adera. lIpucyrcTByeT wmacca CyYIIECTBEHHBIX OIIMOOK B TpaMMAaTHKE,
nekcuke. He BocmpuHUMaeT MHOCTPAHHYIO PeUb Ha CIyX.

1-4

-OTBCT HC ITOJIYUCH.




